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Parameters for Layout:

Ozcillator freguency:. faze = T.AT28MHZ

Saturation voltage: Vo.r= 0.5V
Input voltage: W, =15V
Output voltage: V=15V
Maximum output current: lo pex=154
B-bit PWM:

T=210_ g9 199ps
With duty cyele of S0%:

£9.19%us

o= = 34,60
Inductance:
[V, = Ve -V, [15V - 0.5V 34.60ps

e R |— . = 149.90H

- T.1.5A
Lxl2xlo,,,  150dIx34 -
L™ ¥ oV, =V, ~ 15V-02v—15v - 25-83ns

Thiz gives a duty cycle of

L 33-33111fs= 0.489= 48 9%

Parmeters for Lavout: o= 2a6MHz
Dacillator frequency: Vor=0.5V
Saturarion voltage: W, 1T

Input voltage:

Ouatput voltage: Vo=1a2A

Maximum cutput current: Lo .- L3A
S-bit PWM:

I= 422 - 9.06s
With duty cvcle of 30%

a0 —
bp= ?m—d-fh,.:b

Inductance:

(V= Vau— Vot (15 —05-1 SV |4.43us
I AT

L2, . Z2pH » 3A

b =Y W, —WV, - T5V_05V—_1.5v - “ERkS

This gives a duty cycle of

l,, 4B8us

e N e = 44.8%,
T = 5068 0,448 = £4.9%

21.1pH




